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The maximum marks printed on the question paper are
applicable for the candidates registered with the School
of Open Learning for the B.Com. (Hons.). These marks -
will, however, be scaled down proportionately— in respect
of the students of regular colleges, at the time of posting
of awards for compilation of result.
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All questions are compulsory.

All questions carry equal marks.
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(@)  From the information given in the following table, draw
the demand curves for goods X and Y before and after
the change in the price of good X. What is the
relationship betwee.n the two goods ? 4

Commodity Before After
Price Quantity Price Quantity |
(Rs. per kg) (kg per month) (Rs. per kg)| (kg per month)
X 15 5 30 2
Y 2 4 2 2
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From the table given below, calculate the price elasticity

of demand from :
(i)  Point D to- Point G
@iy Point G to Point D

(iify Midway betw.een D and G.

Point P, Q,
A 6 0
B 5 20,000
C 4 40,000
D 3 60,000
F 2 80,000
.G 1 - 1,00,000
H 0 120,000 - 6
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()  Prove, with the help of calculus, that when the price
elasticity of demand, 7, is greater than one, Marginal
Revenue (MR) is positive, and when 'n is less than

one, MR is negative. 5
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B 5 20,000
C 4 40,000
D 30| om0
F 2 80,000
G | i 100,000
H 0 120,000
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(@)  From the information given in the following table, draw
the demand curves for goods X and Y before and
after the change in the price of good X. Calculate
the cross price elasticity of demand between the two
goods. S

Commodity " Before After
Price Quantity Price Quantity
(Rs. perunit) | (Units per [ (Rs. perunit) | (Units peq
month) month)

X 40 50 60 30

Y 20 40 20 50
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From the demand function Q, = 600/P, (i) derive the
demand schedule (i) draw the demand curve.
What is the shape of the demand curve ? What can
you infer about the elasticity of the demand

curve ? 5

Prove that when the supply curve is a positively
sloped straight line, then all _along.fhe line, if the
supply curve cuts the X-axis, elasticity of supply, is

less than one (e, < 1). S
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An individual spends all her income on two goods X

“and Y. If a Rs. 10 rise in the price of good X leads

to a rise in the quantity purchased of the other good,
Y. Can you infer anything about the own-price-elasticity

of good X ? 5

From the table given below, calculate the income
elasticity of demand between (i) A and B (i) C and

D (iiiy F and G (iv) G and H.

. Income Quantity
(Rs. per Month) (kg per month)
A 8000 5
B 12000 10
C 16000 15
D ‘20000 18
F 24000 20
G 28000 19
H 32000 18
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Draw the Engel Curve. What can we infer from the

slope of the Engel curve at different points ? 6

(¢)  Explain the shape of the indifference curve when two

goods X and Y are :
()  Perfect substitutes

(i) Perfect complements. 4
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A 8000 5
B 12000 - 10
C 16000 15
D 20000 18
F: 24000 20
G 28000 19
H 32000 18

mwmlmw%mﬁ@ﬁfw
ﬁgﬁ.mmwmmm%?

P.TO.



( 12 ) 5778

(N FtEH o = vHa # oren whm "

(a)

®)

(©

x @R v A

@ Wm%

Q T’f‘ﬁ*%'
or
(areran)

Do parallel demand curves have the same elasticity at

_the same price ? Give reasons for your answer, 5

Given two goods X and Y, is it possible that the
consumer will not buy any amount of one of the goods
and still be in equilibrium ? Give reasons for your

answer. 5

A consumer spends her entire income on two goods

X and Y. The price of X (PX) is Rs. 3Q and that of

Y (PY) is Rs. lb. If she consumes 12 units of X and

"
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24 units of Y, her MRS is IAY/]?(. Is she at equilibrium
at this point on her budget line ? Give reasons for

your answer. 5
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Explain with the help of Revealed Preference Analysis
why.the price of a commodity and the quantity

demanded of it are inversely related in the case of a

normal good. 6

Explain the relationship between the Price-Consumption

Curve and the demand curve. i 5

Is an economic “bad” the same as an inferior good ?

Give reasons for your answer. 4
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With the help of diagrams, differentiate between an

inferior good and a Giffen good. 6

What is an Engel curve ? How can we derive the Engel

curve from the Income-Consumption curve. ? 5

What is a ‘neuter’ ? What will be the shape of the
indifference curve when one of the goods is a ‘neuter’

and the other is a normal good ? 4
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State the Law of Diminishing Returns. With the help
of a diagram, explain the three stages of production.
In which stagé will the rational producer choose to

function ? 7"

What is a Cobb-Douglas production function ? Prove
that such a production function exhibits constant

returns to scale. 4

Explain the relationship between the Marginal Product

of a variable factor and the Marginal Cost. 4
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"What are the characteristics of isdquants ?

Explain the concept of the Marginal Rate of
Technical Substitution of labour for capital and show
how it is related to the Marginal Products of the two

factors. _ S
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Distinguish between returns to scale and returns to a
factor. Is an increasing _returns to scale - production
tunction compatible with diminishing returns to a

factor ? Show with fhe help of a diagram. 5

What is the learning curve ? How does learning curve

differ from economies of scale ? 5
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A perfectly competitive firm can never earn more than

normal profit in the long-run. Explain using appropriate

diagrams. 8

Derive the long-run supply curve for an increasing-cost

industry. 7
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The firm should shut down if the price of the product
is less than the average economic cost of production
at the profit-maximizing output. Explain with the help

of diagrams. : 7

Evaluate the gains and losses resulting from price

controls. 8
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